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4.1 - Inequalities and Their Graphs

Vocabulary:
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OBJECTIVE

Q@EZZEDD Is each number a solution of x > 5?

a. -2 b. 10

=5 0= 5

N Vi
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Mental Math Is each number following the inequality a solution of
the given inequality?
Lv= —.‘84 3. b < 4,-0.5

4= -5 -D0.,9 < 4

i 45
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OBJECTIVE

m Is each number a solution of 3 + 2x < 87

2HR DL 3+ A(2) £
E 24 b
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a. Graph d < 3.
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b. Graph-32g.
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16. x =4—
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OBJECTIVE

GQEZIEDY Write an inequality for each graph.
[~ P, S ——
-1 012345 34 Z Q,

b. <——t————t ~ —5
-4-3-2-1 01 2 ><_____

Chname e X > -0

ST X > /Q,
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Write an inequality for each graph.

27T, ot ———————
—4-3-2—-1 0 1 2 3 4
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OBJECTIVE

EEZIEDY Define a variable and write an inequality for each situation.

a. Aspeed that violates the b. Ajob that pays at
law when the speed limit is least $500 a month.

95 miles per hour.

afox@@d Lw-x—v%wwﬂ

>= 55 X = 500
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Define a variable and write an inequality to model each situation.

33. A bus can seat at most 48 students.

LX b = LS Seads

b £ HZ
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Homework: pg.202 #10, 14, 20, 22, 28, 30, 34, 36, 44,52, 80, 88




